
WHEEL BRAKE 2051B 750KG KEG ET0 SPECIAL
ETI- No.  811204 (Specify the order with the ETI No.) Spare Parts

Item Description Drawing No. Item Description Drawing No.
BOWDEN CABLE HANGABLE 14 END CAP 208 399 00 02

WRAPPERS LENGTH: 15 WHEEL NUT                                               Kugel 
M10x1,25

208 892 00 10

350 299 707 Kugel M12x1,5 208 167 00 18

530 299 708 Kugel M12x1,5 208 167 00 20

770 299709 Kugel M14x1,5 208 167 00 02

890 299710 Kugel M18x1,5 218 568 00 06
1020 299711 17 SHAFT SEALING RING A 42x62x7 700 272

1130 299712 18 BEARING BOLT 368 651
1320 299713 19 SPLINT 4x20 DIN 94 700 192
1430 299714 20 COMPRESSION SPRING 208 880 00 03
1620 299715 21 FLAT SPRING 368 405
1790 299716 22 ADJUSTING BOLT AND

3 CONNECTION EYE 604 262 23 ADJUSTING NUT

4 TENSION SPRING 218 737 00 03 24 COMPRESSION BINDER 368 361 

25 STOPPER 10x13x11 373 245

26 COVERING CAP 238 261 00 02

6 SET BRAKE JAW 1213889 27 BOWL 371 387

7 TENSION SPRING 208 200 00 07 28 CAP 371 389

8 SPREAD HINGE LOCK 571 510

9 BEARING LM 67048/010 700 771

11 BEARIING LM 11949/910 700 764

12 SPLINT ¢4x30 DIN 94 700 194

13 CASTELLATED NUT M18x1,5 DIN 937 700 117

ETI-No. changed Reason of the change Revisons-No.

811204_en 13.10.2009 A

10
BRAKE DRUM DRILLED                                          
112x5 
                                                                                             

375 814
366 550

2

218 737 08

Change No.

FREIGABE

provided

19.11.96

5
AUTO-REVERSE LEVER LEFT                                      
AUTO-REVERSE LEVER RIGHT

571 386
571 387

Hersteller / Manufacturer / Fabricant: AL-KO Fahrzeugtechnik - 89359 Kötz - Germany  Seite / Page  1 -1


